Subject: Re: Problem with Geane (Error in "runRECO2.C")
Posted by Aleksandra Biegun on Tue, 29 Jan 2008 17:48:49 GMT

View Forum Message <> Reply to Message

Hi Pablo,
as Ralf noticed, maybe this expresion xc = xc - s; is not really important and gives an error, so |

commented 2 lines where xc = xc - s; was in the pandaroot/stt/PndSttHelixTrackFitter.cxx
and the runRECOZ2.C macro finally works and finished succesfully .

Could you look at it if it is correct?

Thanks,
Ola.

ps. now, time for next macros
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